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Answer all the questions

15X1=15
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Note : Answer any six questions. Question No. 24 is compulsory.

6x2=12

16. |2 Les®GaymIsev : Quetor 2 ulflulledr 2 LeveT @emFQFeGH6T @)6MetoTs5eV. 6.8

D6 [T6U 60T, LIMLILIGOT, LIMEVTL_LQ &6lT.

organisms. E.g. reptiles, aves and mammals.

Internal fertilisation : The fusion of male and female gametes takes place within the body of female

- 2 Mark
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18.

19.

20.

21.

STULSTVEST6L STWCHFUI @emnetoTliL|s S &Ealefl(pHa 2 MHUSSH QFWWLILGLD
QT GLOITEOTS6IT.
e hCG - eoflg Camiflwumetlss QasmerCLTIyCrmLesT emmyGLomest
e hPS- wefls GCamflumells QaemwlCLmwbEmeymier or hPL- 1neofls
LI 6T ITEedTL6V 6V T8 GLITEQ60T.
o MoV GImGIe60rT.
e LGImQenlq Grmeor.
o flevmg:&eor.
Name the hormones produced from the placenta during pregnancy.
e Human Chorionic Gonadotropin (hCG),
Human Chorionic Somatomammotropin (hCS) or human Placental Lactogen (hPL),
Oestrogens
Progesterone
Relaxin

(any four)4 x Y2 =2

b 315 HreudHev L MG W 6TeT QILIT(HL &6 :

Q&wlerev  Llermevinm, GFILCTL, QBTHSHET, eTIQCR60TH6T, &LIFEHELITE,
&M ILIs 9blevld, LIGTTeNVLG6rTMeoTLq.60T8H 6T, Ql6uerdl@ Gsveny

Composition of semen :

seminal plasma, citrate, several enzymes, prostate specific antigens, fructose sugar, ascorbic acid,
prostaglandins and vesiculase - 2 Mark

SHEHQSHTEM6V (10) P &HEHEQHTm6L CaumLB S S15.
o H(BHHQEHTM : H(HLIemLIUN6 2 _6T6eT HIHen6l L5560
o FHFEQHETML : QuUTgUTs WLILW Geomur@h 2 6TemT SHmHenal HalisHs
QL Wemm CLMASTETETLILR S M.
Differentiate foeticide and infanticide.
e Female foeticide : aborting the female in the mother’s womb.
e Female infanticide : killing the female child after her birth. - 2 Mark

@@ FMHS &([H5SH60L 3 eMLOLILN 60T LI6UoT L] 6lT.
e LIWeoTH BHL L,
o crafl®eL et 5560,
o GOMHSLLTF LHHem6T6y,
o LITEVIGOOT6) 2 _[H&H60)6V &60) L Q& UIWITeoILO.
What are the characteristic features of an ideal contraceptive method?
e Should be user friendly.
e Easily available.
e Least side effects.
e Should not interfere with sexual drive. - 2 Mark

606V G LI IT60) 60T G & Fn. 60T 6TEUTMNITEL 6T60TEUT ?
o Qowewmm GCITCLMGFMTID UMH 2 LeV&H6eTms 2 eemeor ereor GOl 6S1Gwimedr
WeTQMABHSTH.
o Queor 2 Wliflx:erfley, @enauser W& QBMBHHIOTE S@Hevor(h, GCTMTGLOL 1 60T
SIS S5 QIlQaINTeT QamL 1QCTT GCTTGLOL 196 L8 DMISMS ereor GL0Tf]
GOl BWImedT (LNETQL M BHSITH.
What is Lyonisation ?
e Mary Lyon suggested that Barr bodies represented an inactive chromosome.
e In females becomes tightly coiled into a heterochromatin, a condensed and visible form of
chromatin. - 2 Mark
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23.
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G\UTLIQLI(H 58 LOGUITL.6VE B 60T (P& H W QFWLLITH &6 WITemeu?
o albHg (D) 6TITL. QFELEENET 2_(HEUTE G556V
e 2 (HEUITEN QFGLHMET &HL GHSHIH6V (D) FEFHM6UHSH 6V
e aI6MIHLD SMHAMGS 26T LFFSHG 6flES LIMTSIGTES60.
o AMMIGLOMEITSHEMET 2 MLIGH C&FUIG60.
What are the four main functions of the reproductive system ?
e to produce the gametes namely sperms and ova
e to transport and sustain these gametes
e to nurture the developing offspring
e to produce hormones - 2 Mark

2_melleory G576 6T60TMIT6V 6T60T60T ?

o MMM wWLemLUWley @B 2 maumGh Vn  QuUeTCHefs e,
@umenf15C8sH et @MW (WL emL&emeT LUFTFLUSMHEGID &6 @ 6Tl LIHES
QeaumM& G LD LDEMLNSLOTS &S EH& 8 TEHE)LD LM 6r| & 5 60T 6oT.

o creoTB6l @HmSW BIsLe| “@ melleri CHIT6]” 6TeT P& &LILIGSRMmS.

What is known as kin selection ?

e In honey bees other females (except Queen) which are diploid having developed from
fertilized eggs.

e They help to raise the queen’s eggs and so contribute to the queen’s reproductive success
and indirectly to their own.

- 2 Mark

GeoMUThHeLW wLrusgyieimE@ USHeuns @UeEELITET LWJLUSDIenel 6U6THE(H
KemmesH e QFNIGHSIeug 06flg @6rdHamsd CLUMSSIUSMN&ETSH L6y
Al &emem LWeTUBMSSID @@ Slenm. IS5sHemmuiled QUWeNTHEGSMIUILINLD
S| S 6M60T 6U6M T MISE6]LD.
o Sl : THFTLO6MM @) 60TGLOLDLIMTLLUIGV
e UMW : GMUTH 2 emLW elemTis@®m LlemTmFSFHemne &F(WN&HEH 0 HHS
Bl&@&LD emm.
Changing a defective gene to a normal gene in germ plasm is a branch of application of
genetic laws to improve the human race. Name the branch and define it.
e Name the branch : Eugenics.
e Define : Application of the laws of genetics for the improvement of human race is called
eugenics - 2 Mark

L& -

Note : Answer any six questions. Question No. 33 is compulsory. 6x3=18
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29.

@ emeyuilfl Blemev eTeueumM @ 6OTLIQLI(HES BlemevulleSl(HHsl CeumiLIL (heTergl?
o @ emayuil] mlemev : @ 2 Wilflullesr NMLILIMEGLD @6oTIQLIHES
WHFTFFRHGLD @emLLILLL euemf&FRESHTeuD '@erd 2 uilifl Blemev' sTeorLiLI(BILD.
e Q@ETLQUIHES MBlemev: sp(h 2 WIflwimersl @e6rlIQUmHESESID QFUIG auldls
G METMEVEHEMET 2_(HEUMEHGLD QFWVSHE6TF QF I &HTeVlD @ 6T L[HEHS
Blemev @& LD.
How is the Juvenile phase different from the Reproductive phase ?
e Juvenile phase/ vegetative phase: The period of growth between the birth of the individual
upto reproductive maturity.
e Reproductive phase/ maturity phase: The organisms reproduce and their offsprings reach
maturity period. - 3 Mark

@)\ 60 600T6Y @) 6OTLIQLI(H & LD 6T6dTMITEL 6T60T60T? eT(NSHBISHHTL () &(H 5.

e @H @Cy AmMleaTsmass FMiHS @0 2 UINF&H6T HM&HETEINSGEINTS ©)60)600TSH 60
BOLQUMR M. « @euallemnenngedey FHUGLWD 2 uWilifleser @) emeoorell&HeT ereorm
QuUwIJ.

e 61.5IM. E.g. Paramecium, Vorticella and bacteria (Prokaryotes).

What is Conjugation ? Give an example.

e The temporary union of the two individuals of the same species.During their union both
individuals, exchange certain amount of nuclear material (DNA) and then get separated.

- 2 Mark

e E.g. Paramecium, Vorticella and bacteria (Prokaryotes). - 1 Mark

bS5 s 3L g 6T (N&FH WS Fusams s &ML ®G.
e @uicvLIment LD6oflE 2 L6b QeuliLmlemevuilev efflwinmesr ellh& G&F6L8eme6rr
2 MUSH Q&F UIW (WL UITSI.
eTeoTGou ellem s LIl euUIDHMenME S QeueflGul | 6mLDHSI6TeTS.
@) S 60TIT6L @ UIELLIMET 2 L6V QauLliLiBlemevenl el 2 (N&6L 3°C GenMalTs
o _6TeTSl.
o aflemzliemuumersl (b Qeulll QBMILILGSH WSS QFwev Liflaugme ellbsl
QF6L 2_(HEUMEHSLD HEOLQLIMITMS.
Mention the importance of the position of the testes in humans.
e The scrotum is a sac of skin that hangs outside the abdominal cavity.
Since viable sperms cannot be produced at normal body temperature,
The scrotum is placed outside the abdominal cavity
To provide a temperature 2-3°C lower than the normal internal body temperature.
Thus, the scrotum acts as a thermoregulator for spermatogenesis. - 3 Mark

GMES LDMISEG &HL55 60 6T6OTMITEV 6T6OT6OT ?

e BIMEGMH®DH L6toTLTETS, SHenGUILLD QBHS HLEHHETTH 2 6TeT N&6T el
CUIISHS SLSSLLQUS.SMIHG LDMI&H S T &HHLSSH6V 6T60TM)
MPHELILIOH MG

What is criss-cross inheritance ?

e A trait which is inherited from the male parent to his grandson through carrier daughter.
Example: colour blind ness. -3
Mark

GSILILI6N EUEMEITUILD 6T6OTMITEV 6T60T60T?

e @5 @M IMBHHLIT 26T HIHLIML FITHETD UGD.QF QBHY 36vevgl
SIGLUINNYSGSETS @rume QFWwiUL(GeTerer. 65U elemeTWwD 6T6T LIS
@rLenL S allgel QSR LHE &malllm@LD.

What is Lippe’s loop ?

e Non-medicated IUDs are made of plastic or stainless steel. Lippes loop is a double S-shaped

plastic device. - 3 Mark




30.

31.

32.

TS @\T655 FlauliLgn Feng e CHmenW &H & GLW Wenmullemeorl LIMM)
TR SIS.

e Rh- &MUl Rh+ GBS &IN&HGDCUTSE D - 6THTQLMTIHM6T THTHEH 61606V
QUITHEMET 28 6US GUTIIOL 34 g UMW SHmMeUymm STUSHG ShLIL
BLAIGEMSWTS Q&HTHESHILGSH M.

o GLHME LIMbHHaLGCer aHICUTIHTHMET 6THTHS 61660  GLITIHENET
SMTUEHG Q&HTH &S Caleor(hLD.

e @&eTmev  @uievlimeor  CBHTUI SHMLSEHTLL 2 (peumere]Ler  &Hedleor
FalliLusssmeT SPEHETD aTHFQUTmeT STuler 2 Ledlev 2 ([Heumersl
SO SSILORMS.

e SMW SFLILUL SH&HEGW0 CUTASHEVEVITD GLDLpemnmenl CLME S meTer Geussor(hLD.

Write about prevention of Erythroblastosis foetalis.

e If the mother is Rh negative and foetus is Rh positive, anti D antibodies should be
administered to the mother at 28th and 34th week of gestation as a prophylactic measure.

e If the Rh negative mother delivers Rh positive child then anti D antibodies should be
administered to the mother soon after delivery.

e This develops passive immunity and prevents the formation of anti D antibodies in the
mother’s blood.

e This has to be done whenever the woman attains pregnancy. - 3 Mark

@eTLUQUHSS WLMmMID GSWHemd [Heulh UMHSTUL SLLSGar G
CLMASMeTeTLILI(HLD eLN6OTMI QILI(HLD LI6ooTI & 6m6IT 6T(LD 5155.

o 2 | 6 BeD &S FUNSTUSMEE &L LSS G emallmer ellLdlLlL|eorFenel
JOHUDS SIS DHOILD BHSSIe 2 56 6flgg6.

o alLemeliLipauld WMMID lLemeul] LiHaUld FTFLMTET OMMMMBIGH6T LMl
HEHEUMEHMETS SIHLD LIMedulsy sevallemwl LisiTerflaerfley Qo meoor(h 6u([HE6V.

e SLUTWT HMILD H(HLO6oT aUWLHTTEHG GO SLGILILTH NS &6T LMol
Wmius sLGUTLG WenmaseT Lhnl <imlalmigse.

o SJLLML[HS QLEOTSHT LUMS&GTLL WaHICUMMIGGL Lbensuw SHTul-C&ul
LIMSISTUL MmN STUILILImeL 26r (heugeor (&S WS SIalln GUImeTmeneal LM
efliflliLemorfemer gHLIG S SIS eV.

e IU& LOHMID & FOJT  (PHEITEIDNEEHSHG ST el a
@eTUQUHSSHLD FMTHS LUSW (Lpenmsemernd sevorL Ml HenL(pemmuilevierer
SOWLUE &SLGUUTL® WenmaeneT GLIHNESS 2618 8106115560,

Write any three major tasks carried out under Reproductive and Child Health Care.

e Creating awareness and providing medical assistance to build a healthy society.

e Introducing sex education in schools to provide information about adolescence and
adolescence related changes.

e Educating couples and those in the marriageable age groups about theavailable birth control
methods andfamily planning norms.

e Creating awareness about care for pregnant women, post-natal care of mother and child and
the importance of breast feeding.

e Encouraging and supporting governmental and non-governmental agencies to identify new
methods and/or to improve upon the existing methods of birth control.

(Any3) 3x1=3
Mark

@\ eoram) L9 6T {5 60T LicooTl&H6T:
* Nb&HE HleooT Gl 2 6tem QEFEFCLME] QFL&HeT veud GFalledld
QEFGHETITEL &IS&LILIMG IS @) eTamLler eTenild ammyGLOMeT MG LD.
* @\bH&H anTIGMeT erHFwenm LeTenml L L GLIUTLenL CLoMQSTeTH eTmS.
What is inhibin ? State its functions.
e Sertoli cells secrete inhibin, hormone




e Inhibin involved in the negative feedback control of sperm production. - 3 Mark

33. | @@ UPLULFFRWET 2. L6 QFLe0l6L @ X GCITCLMECFTID eeT) Q55TEH
2160V GCIMCLMGFTLGZEHLL SmeooTLULG&Hermerr. SULFRUNeT LML
BlFetoT W H60 S edl6s: (& 5.

X 3o GFmibsamer X
LiTel Failf (G aTede Celrons Lans (_)
o1 &b EEHmTROTEETiD
. SEmEdlsalisl aadreni dag A
o LT v&GMIUT_(Qerevor = = ¥ =0.33
o LPLILLFRUNL @& L& 260015 6TTE &M6euoTLILI(H & 60T 6oT.
A fruit fly body cell contains one X chromosome and three sets of autosomes. Explain its sex
determination.
, _ Number of X Chromosomes (X )
Sex index = —
Number of Sets of Autosomes | 4
o
e Sexindex =75=0.33
e In fruit fly, it is Meta male / super male.
LGS -V
Note : Answer all the questions. 5x5=25

34 | 2.WflmerfléL HeMLQLMID &(IHey MG emev afleurfl&seyLd ?

(S1) | 1. H60T HHUMISHV. 2. U HHEYMIFH6EV. 3.(NWCFIHME. 4.@6TD QF6L CFJ&H60 .

(@) | 5.0mmILl L QFVCEFTHME. 6.055 QF6 CFIHME. 7.8aumILIL L QF6) CFIHmM5.

Any five types with examples - 5x1= 5 Mark
What are the different types of syngamy in living organisms ?
1. Autogamy. 2. Exogamy. 3.Hologamy. 4.Paedogamy. 5.Merogamy. 6.lsogamy. 7.Anisogamy.

Any five types with examples - 5x1= 5 Mark

34 | ez 6L HEOLQLMID & (56 MISH6V Hl&LD 66T

(=) o SH(HyMISHE 1 mark

(b) e HMGeTMMLD 1 mark

o 9&CITGFMLD aflemeor 3 mark
Explain the process of fertilization in human beings.

e Fertilisation 1 mark

e Capacitation 1 mark

e Acrosomal reaction 3 mark

35 | BBHESLD UMLILLHEI&Sem6T 69168 (S 85.

(1) | oplbeolwimedt, G&mIflWITedT, B1,6V60TL TGN, & (H6Y 600T6LI6m LI 1 mark

(@ | ellemgaid 4x1 = 4 Mark
Explain about extra embryonic membranes.

Amnion, Yolk sac, Allantois Chorion 1 mark
Explanation 4x1 = 4 Mark
35 | 9jevoTL I swmiedledr LIL LD euemH Sl 69168 (S 8.




(=1) LILLD-2 Mark + ellem&as1h 3 Mark
(b) | Draw a neat labelled diagram of human ovum and explain.
Diagram-2 Mark + Explanation 3 Mark
36 | BITHST NMULS SLOUUTL®H WemnmaeneT edl6rns (& s.
(1) o H(HHGLN Feml (LW QUELLA) allemd s 2% Mark
(a) o alb& G oL (UTQEFSLLA) ellemd: &L 2% Mark
Explain about permanent birth control methods.
e Tubectomy with Explanation 2% Mark
e Vasectomy with Explanation 2% Mark
36 | GMILLY 6T 85s.
(@) | i) BQwmed) eurflGWImLLLD eflema&Ln 2 /2 Mark
(b) |ii) BB &HevoTEHMEOOILIL & &l ellen& &I 2 15 Mark
Write short notes on :
(i) Ultrasound scanning with Explanation 2% Mark
(i) Foetoscope with Explanation 2% Mark
37 | uyy g luenLuilev wenflgeoflett ABO @I58 6uem & ener efleunfl&aeyLn.
(1) S| Leuemevor - 3 Mark + ellem&asLh 2 Mark
(@) | Explain the genetic basis of ABO blood grouping in man.
Tabulation - 3 Mark + Explanation 2 Mark
37 | LLOY&&TE aUNISQSTLIT LIGLILITUIEY 6T63TMITEV 6T60T60T? LOFL|& & M6V 6uLdl L0 LS
(=) | @amLFleL LWeaTU®SSUILB LWL SMuih 6T wmHmib eNifleunssgens 61 Sis.
(b) 1. LIYUGSTO PSS TLT LUGLUTUIe) - 2 Mark
2. ry&sme auldl nrys 0smLflev LweTU®SSLILGILD GMIuTH &6T Inmmild
allfleumg s - 3 Mark
What is Pedigree analysis? Write the symbols commonly used in pedigree charts with
explanation.
1. Pedigree analysis - 2 Mark
2. Symbols commonly used in pedigree charts with explanation. - 3 Mark
38 | evllzenfleL MG WD (W& W G\ TLQLIIHES BN &Heme6T LIL LW edH 5.
(31) | 1. @6TEQ&F6L 2 (HeUMEHSHLD, 2. allb&E 2 6TCaTMMLID, 3. H(IHEMIS, 4. LlemallLIQLI[H &6V, 5.
(@) | &smusHs6, 6. MU CFUI @en6TlILS Ha 2 [HauTHs0, 7. epal(H &E
&H([HHBHMETINME S, 8. 2 MILILITESLD, 9. I0&LICLMI. alleTdh &5 SIL 60T - 5 Mark
List out the major reproductive events in human beings.
1.Gametogenesis, 2.Insemination, 3.Fertilisation, 4.Cleavage, 5.Implantation,6. Placentation,
7.Gastrulation, 8.0rganogenesis, 9.Parturition with Explanation
- 5 Mark
38 | wella LFUEY HLLSH 6T F1MHLILNWGLL| &Ml 6T(LD S 5. Any 5 points 5x1=5
(=) | Salient features of human genome project Any 5 points

(b)

5x1=5




